Subtract each fraction problem and reduce to lowest terms. When subtracting, remember that the denominator must be common among the two fractions. Circle your final answer.

$$8\frac{\frac{4}{6}-5\frac{5}{6}}{=\frac{52}{6}-\frac{35}{6}}=\frac{17}{6}=2\frac{5}{6}$$

$$6\frac{1}{4} - 3\frac{2}{4} =$$

$$-2\frac{3}{4}$$

$$5\frac{7}{8} - 1\frac{9}{8} =$$

$$3\frac{3}{4}$$

$$4\frac{3}{8}-2\frac{5}{8}=$$

$$1\frac{3}{4}$$

$$7\frac{3}{6} - 3\frac{5}{6} =$$

$$3\frac{2}{3}$$

$$3\frac{1}{4}-2\frac{3}{4}=$$

$$12\frac{5}{8}-1\frac{7}{8}=$$

$$1.0\frac{3}{4}$$

$$8\frac{7}{10} - 5\frac{9}{10} =$$

$$2\frac{4}{5}$$

$$7\frac{\frac{6}{8}}{-2}\frac{7}{8} =$$

$$4\frac{7}{8}$$